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Balancing Torque Calculations:  The mobile below hangs from a ceiling so that the rods are perfectly horizontal.  Complete the calculations below to solve for the masses A and B:

1. What is the weight of the 0.12 kg mass?

2. What is the torque produced by the 0.12 kg mass about Axis 1?
3. What is the weight of Mass A (Hint: the torque produced by mass A must balance with the torque produced by the 0.12 kg mass)?

4. What is the value of Mass A?

5. What is the weight of the lower bar?

6. What is the total weight supported by string 1? 

7. What is the torque that the weight string 1 supports produces about Axis 2?

8. What is the weight of Mass B (Hint: the torque produced by the weight of string 1 and all it supports must balance with the torque produced by Mass B)?
9. What is the value of Mass B?
0.12 kg
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 mbar = 0 .10 kg





0.08 m





0.70 m





0.24 m





0.50 m





 mbar = 0 .20 kg
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